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QUESTION 1

Which router ID is correct for OSFPv3?
A.0.0.0.0

B. 2001:123:6::1

C.:172.16.11

D.172.16.1.1

Correct Answer: D

QUESTION 2

Which protocol is used for port-level access control and authentication?
A. MD5

B. IPsec

C. 802.1X

D. AES

Correct Answer: C

QUESTION 3

You manage your company enterprises network using EX series switches. Your company wants to use Q in Q tunneling
to connect remote customer sites together. Which statement is correct about the scenario?

A. You must enable L2PT to tunnel layer 2 protocol traffic

B. The outside layer 2 frame is popped by the penultimate switch

C. Customer traffic is tunneled through the network using the C VLAN ID
D. The default Ethernet value is 0x9100

Correct Answer: A

QUESTION 4
Which three statements are true about strict-high priority queues? (Choose three.)

A. In systems that support strict-high and high priority queues, traffic in the strict-high queue is completely emptied, and
then high priority queue traffic is processed.
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B. In systems that support strict-high and high priority queues, traffic in these two priorities is processed in a round-robin
fashion.

C. When a strict-high queue goes into negative credits, it will maintain a strict DSCP marking.
D. When a strict-high queue can never go into negative credits and will always transmit the traffic in the queue.

E. In systems that support multiple strict-high priority queues, traffic in the strict-high queue is processed in a round-
robin fashion.

Correct Answer: ADE

QUESTION 5

Click the Exhibit button.

[edit peolicy-options]
userfrouter# show
as—-path regex V65100 : (65200 | 65300) +21870";

Which AS path matches the AS path regular expression shown in the exhibit?
A. 65100 65200 21870 21870

B. 65100 65101 65200 21870 21870

C. 65100 21870 65200 65300

D. 65100 65101 65200 65300 21870

Correct Answer: B
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